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QUESTION 1

When creating a fault-tolerant network device, what is a limitation of EtherChannel? 

A. Number of ports that can be combined 

B. Only half the aggregate bandwidth is used 

C. Physical ports must be set to full duplex 

D. Ports speed must be set to 100 Mb/s 

Correct Answer: A 

 

QUESTION 2

Which application provides a framework that allows Celerra-specific snap-in management tools to operate? 

A. Celerra Manager 

B. Celerra Monitor 

C. EMC. ControlCenter 

D. Microsoft Management Console 

Correct Answer: D 

 

QUESTION 3

What accurately describes Kerberos? 

A. Active Directory infrastructure 

B. Authentication protocol 

C. Security encryption 

D. Uses access tokens to hold a user\\'s SID. 

Correct Answer: B 

 

QUESTION 4

What is the most secure method of managing a remote network host? 

A. NFS 

B. RShell 
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C. SSH 

D. Telnet 

Correct Answer: C 

 

QUESTION 5

What is a limitation of local replication when using Celerra Replicator if the Control Station fails? 

A. Features can be modified but data transfer is aborted 

B. Features can be modified but data transfer is suspended 

C. No features can be modified and data transfer is aborted 

D. No features can be modified but data transfer continues 

Correct Answer: D 
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